Math 51— Prof.Beydler 6.2/6.3 C Practice

Pagel of 2

1. Factorcompletely &0 p @ ¢ @

=(y -3)(‘/;5-(

2. Factorcompletely cw p o 1T @

::7>><<><l‘gx - ‘L(')

ax (x +2)(x-17)

~1, +66
-1, 433
-3 +21

-4
+l)-7

3. Factorcompletely ® vw @ (Hint: factor out a p first to make things easier)

= "<xl‘g><‘43

:F(x +1)(x - 6\J

4. Factorcompletely@» xw@w
= 2wy =y 437

= x(2x-Y) =3y(2x-v)

‘—‘-&x*‘/) <>< -39) ‘L

+1,- 6
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5. Factorcompletely@o‘o p n@
%
= 6x - Ix Ik 1S A -l,-%0
-9 -\0 9 -
= ZX(Zx -3\ - g(lx'EB 1, L :g
-3, -30
=L(2>< -3) (3 ’Sﬂ -5, -1¢
-6,-1s
-4,-10
6. Factorcompletely o p @ X
=X (C)( 4’\qu) (6) (-1
G /\ - —‘-(1 °‘)+q]—
=X (éx -1x+1|>< "7> N\ -1, %21l
-1, )

=X (2)((2\< - |\ + 7{3x—l\3

=|x% (3x-0) (x4 7Y}

Q: What goes upnd down but doesn't move?



